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Quadratic Equations

Example

1. Which of the following is a quadratic

equation? a)  b)2 +7 =8 c)3x2 − 5x + 3 = 0 x y x

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_jkBOfzzKGZwi


=6 d)None of these

Watch Video Solution

2. Which of the following is a quadratic

equation? a)  b)  = 9 c)

d)None of these

Watch Video Solution

9y2 + 5 = 0 x + y x3 = 8

3. Which of the following is a quadratic

equation? a)  b)m3 − 5m2 + 4 = 0 x + y = 4

https://dl.doubtnut.com/l/_jkBOfzzKGZwi
https://dl.doubtnut.com/l/_YmGcboZQ1zei
https://dl.doubtnut.com/l/_3DTsjZEusjLO


c)  d)None of these

Watch Video Solution

x2 + 8x = 7

4. Which of the following is a quadratic

equation? a)  b)

c)  d)None of these

Watch Video Solution

(l + 2)(l − 5) = 0 x + 6y = 8

m3 = 64

5. Write any two quadratic equations.

Watch Video Solution

https://dl.doubtnut.com/l/_3DTsjZEusjLO
https://dl.doubtnut.com/l/_KrfUZffQvr4v
https://dl.doubtnut.com/l/_SJSgqtNvFS4J


6. Which of the following is a quadratic

equation? a)  b)  c)

 d)None of these

Watch Video Solution

x2 + 5x − 2 = 0 x = 8y

y3 + x3 = 0

7. Which of the following is a quadratic

equation? a)  b)  c)

 d)None of these

Watch Video Solution

y2 = 5y − 10 3x − 7y = 9

5y3 = x3

https://dl.doubtnut.com/l/_SJSgqtNvFS4J
https://dl.doubtnut.com/l/_oLj7tGFhqmpy
https://dl.doubtnut.com/l/_Q2RbQov4wk3F


8. Which of the following is a quadratic

equation? a)  b)  c)

 d)None of these

Watch Video Solution

y2 + = 2
1

y
y2 = 3

x − 8y = 2

9. Which of the following is a quadratic

equation? a)  b)  c)

 d)None of these

Watch Video Solution

x + = − 2
1

x
m = 5n

y3 = 9

https://dl.doubtnut.com/l/_Q2RbQov4wk3F
https://dl.doubtnut.com/l/_GS7TQC4tTfzC
https://dl.doubtnut.com/l/_X81ze9r7u8is


10. Which of the following is a quadratic

equation? a)  b)  c)

 d)None of these

Watch Video Solution

(m + 2)(m − 5) = 0 x3 = 9

y + 3 = 7x

11. Which of the following is a quadratic

equation? a)
  b)  c)

 d)None of these

Watch Video Solution

m3 + 3m2 − 2 = 0 x = 8

y2 + 7y + 9 = 0

https://dl.doubtnut.com/l/_tebhHfXms1mq
https://dl.doubtnut.com/l/_ikdTvZ97pfnI
https://dl.doubtnut.com/l/_lG2cZqTBq1Xb


12. Which of the following is a quadratic

equation? a)  b)  c)

 d)None of these

Watch Video Solution

x2 + 2x + 11 = 0 y3 = 6y2

x + 8y = 4

13. Which of the following is a quadratic

equation? a)  b)

c)  d)None of these

Watch Video Solution

x2 − 9x + 5 = 0 y3 = 6y2 + 9

x + 2y = 6

https://dl.doubtnut.com/l/_lG2cZqTBq1Xb
https://dl.doubtnut.com/l/_cTQcvTtnu1R6
https://dl.doubtnut.com/l/_q7AzFf0ygj0u


14. Which of the following is a quadratic

equation? a)  b)  c)

 d)None of these

Watch Video Solution

(x + 2)2 = 2x2 y3 + y2 = 7

x − 8y = 6

15. Write the following equation in the form of

 stating values of a, b, c : 

Watch Video Solution

ax2 + bx + c = 0

2y = 10 − y2

https://dl.doubtnut.com/l/_q7AzFf0ygj0u
https://dl.doubtnut.com/l/_eKwZme0AeVup


16. Write the following equation in the form of


 stating values of a, b, c :

.

Watch Video Solution

ax2 + bx + c = 0

(x − 1)2 = 2x + 3

17. Write the following equation in the form of

 stating values of a, b, c : 

Watch Video Solution

ax2 + bx + c = 0

x2 + 5x = − (3 − x)

https://dl.doubtnut.com/l/_p5J8HWOSqEgr
https://dl.doubtnut.com/l/_hISgPBaHY4iX
https://dl.doubtnut.com/l/_mkYDfRTeJ8Lk


18. Write the following equation in the form of


 stating values of a, b, c : 

Watch Video Solution

ax2 + bx + c = 0

3x2 = 2x2 − 9

19. Write the following equation in the form of

 stating values of a, b, c : 

Watch Video Solution

ax2 + bx + c = 0

x(3 + 6x) = − 5

https://dl.doubtnut.com/l/_mkYDfRTeJ8Lk
https://dl.doubtnut.com/l/_ydo1bhO5IVze
https://dl.doubtnut.com/l/_wN23RXm7Y1YE


20. Write the following equation in the form of


 stating values of a, b, c :

.

Watch Video Solution

ax2 + bx + c = 0

x2 − 9 = 13

21. Determine whether  is a root of the

quadratic equation 

Watch Video Solution

x =
3

2

2x2 − 7x + 6 = 0

https://dl.doubtnut.com/l/_wN23RXm7Y1YE
https://dl.doubtnut.com/l/_9gzKNgf8QBXd


22. Determine whether  is a root of

the quadratic equation 

Watch Video Solution

x = − 2

2x2 − 7x + 6 = 0

23. If x=5 is a root of the quadratic equation

, then find the value of k

Watch Video Solution

kx2 − 14x − 5 = 0

https://dl.doubtnut.com/l/_8vRCihHUq38Z
https://dl.doubtnut.com/l/_ylVVxauQZYUH


24. Determine whether  are

the roots of quadratic equation

Watch Video Solution

x = 1, x = − 1

x2 + 4x − 5 = 0

25. Determine whether  is a root of the

equation .

Watch Video Solution

m = 2

2m2 − 5m = 0

https://dl.doubtnut.com/l/_GDixJhsbgmhA
https://dl.doubtnut.com/l/_NP5NxH0IeCMa


26. Find k, if  is a root of equation 

Watch Video Solution

x = 3

kx2 − 10x + 3 = 0

27. One of the roots of equation

 is . Find value of .

Watch Video Solution

5m2 + 2m + k = 0 −
7
5

k

https://dl.doubtnut.com/l/_8hKilkC3cR3M
https://dl.doubtnut.com/l/_OMn55Ad3zidk


28. One of the roots of quadratic equation

 is -2. Find .

Watch Video Solution

2x2 + kx − 2 = 0 k

29. Solve the following quadratic equation by

factorization:

Watch Video Solution

x2 − 15x + 54 = 0

https://dl.doubtnut.com/l/_BfaXgEoDEQAB
https://dl.doubtnut.com/l/_f7NdCKMLoC8m


30. Solve the following quadratic equation by

factorization. 

Watch Video Solution

x2 + x − 20 = 0

31. Solve the following quadratic equation by

factorization: 

Watch Video Solution

2y2 + 27y + 13 = 0

https://dl.doubtnut.com/l/_LwX3C9k6o85b
https://dl.doubtnut.com/l/_qEZZ1zR5FWIQ


32. Solve the following quadratic equation by

factorization: 

Watch Video Solution

5m2 = 22m + 15

33. Solve the following quadratic equation by

factorization: 

Watch Video Solution

2x2 − 2x + = 0
1

2

https://dl.doubtnut.com/l/_j6NpYD21FjQh
https://dl.doubtnut.com/l/_vVopQJyOWCmR


34. Solve the following quadratic equation by

factorization: 

Watch Video Solution

6x − = 1
2

x

35. Solve the quadratic equation by

factorisation 

Watch Video Solution

√2x2 + 7x + 5√2 = 0

https://dl.doubtnut.com/l/_1Z5WIPqdCiqh
https://dl.doubtnut.com/l/_7trQsivAlSSK


36. Solve the following quadratic equation by

factorization: 

Watch Video Solution

x2 + 2x + 1 = 0

37. Solve the following quadratic equation by

factorization: 

Watch Video Solution

2m(m − 24) = 50

https://dl.doubtnut.com/l/_H1gqdC3azqcz
https://dl.doubtnut.com/l/_J4yZKkSKCaZZ


38. Solve the following quadratic equation by

factorization: .

Watch Video Solution

25m2 = 9

39. Solve the following quadratic equation by

factorization: .

Watch Video Solution

m2 − 11 = 0

https://dl.doubtnut.com/l/_7D0XXFUvWuTO
https://dl.doubtnut.com/l/_041NaGgBHeDJ


40. Solve the following quadratic equation by

factorization: .

Watch Video Solution

7m2 = 21m

41. Solve the following quadratic equation:

.

Watch Video Solution

(2x + 3)2 = 25

https://dl.doubtnut.com/l/_TRFERv2V7KsW
https://dl.doubtnut.com/l/_sMjoWAUCCoEC


42. Solve the following quadratic equation:

Watch Video Solution

x2 − − = 0
3x

10

1

10

43. Solve the following quadratic equation by

completing the square method:

Watch Video Solution

x2 + x − 20 = 0

https://dl.doubtnut.com/l/_rjhur4VL2OPF
https://dl.doubtnut.com/l/_8op3tAwMNzdy


44. Solve the following quadratic equation by

completing the square method:

Watch Video Solution

x2 + 2x − 5 = 0

45. Solve the following quadratic equation by

completing the square method:

Watch Video Solution

m2 − 5m = − 3

https://dl.doubtnut.com/l/_1iXamwE0ZeC3
https://dl.doubtnut.com/l/_C9Lfzi1zTmGO
https://dl.doubtnut.com/l/_kIoT0Mnf8gIw


46. Solve the following quadratic equation by

completing the square method:

Watch Video Solution

9y2 − 12y + 2 = 0

47. Solve the following quadratic equation by

completing the square method:

Watch Video Solution

2y2 + 9y + 10 = 0

https://dl.doubtnut.com/l/_kIoT0Mnf8gIw
https://dl.doubtnut.com/l/_Gqx6WsNrVQRR
https://dl.doubtnut.com/l/_T5Tc7TawcxdV


48. Solve the following quadratic equation by

completing the square method: 

Watch Video Solution

5x2 = 4x + 7

49. Solve the equation  by

factorization method.

Watch Video Solution

2x2 + 13x + 15 = 0

50. Compare the given quadratic equation to

the general form and write values of a, b, c:

https://dl.doubtnut.com/l/_T5Tc7TawcxdV
https://dl.doubtnut.com/l/_Ec7Zil8CNVMr
https://dl.doubtnut.com/l/_rkjERAZtPlVJ


Watch Video Solution

x2 − 7x + 5 = 0

51. Compare the given quadratic equation to

the general form and write values of a, b, c:

Watch Video Solution

2m2 = 5m − 5

52. Compare the given quadratic equation to

the general form and write values of a, b, c:

https://dl.doubtnut.com/l/_rkjERAZtPlVJ
https://dl.doubtnut.com/l/_SlwmqlX3blaa
https://dl.doubtnut.com/l/_1DBOl2dZmsme


.

Watch Video Solution

y2 = 7y

53. Find the roots of the given quadratic

equation: 

Watch Video Solution

x2 + 6x + 5 = 0

54. Find the roots of the given quadratic

equation: 

Watch Video Solution

x2 − 3x − 2 = 0

https://dl.doubtnut.com/l/_1DBOl2dZmsme
https://dl.doubtnut.com/l/_JP4NAAURLqfn
https://dl.doubtnut.com/l/_qzNHU8TFtdLe


55. Find the roots of the given quadratic

equation: 

Watch Video Solution

3m2 + 2m − 7 = 0

56. Find the roots of the given quadratic

equation: 

Watch Video Solution

5m2 − 4m − 2 = 0

https://dl.doubtnut.com/l/_qzNHU8TFtdLe
https://dl.doubtnut.com/l/_3BKd9QaZiT2O
https://dl.doubtnut.com/l/_LrzlMooDmXem


57. Find the roots of the given quadratic

equation 

Watch Video Solution

y2 + y = 2
1

3

58. Find the roots of the given quadratic

equation: 

Watch Video Solution

5x2 + 14x + 8 = 0

https://dl.doubtnut.com/l/_dYvDIL0F3EVy
https://dl.doubtnut.com/l/_e9RPCIJuLmVl


59. Solve the following quadratic equation:

Watch Video Solution

=
1

x + 5

1

x2

60. Solve the following quadratic equation:

Watch Video Solution

m2 + 5m + 5 = 0

https://dl.doubtnut.com/l/_yZSYkhepcH8s
https://dl.doubtnut.com/l/_kiiSuhp5LhPk


61. Solve the following quadratic equation:

Watch Video Solution

5m2 + 2m + 1 = 0

62. Solve the following quadratic equation:

Watch Video Solution

x2 − 4x + 3 = 0

https://dl.doubtnut.com/l/_O3fp60c4wkNo
https://dl.doubtnut.com/l/_Ai2L2WKTGs2k


63. Solve the quadratic equation

 using formula method.

Watch Video Solution

x2 + 2√3x + 3 = 0

64. Determine the nature of roots of the

quadratic equation: 

Watch Video Solution

2x2 − 5x + 7 = 0

https://dl.doubtnut.com/l/_AnNMZrjMG7fi
https://dl.doubtnut.com/l/_4ZOBDze8nGPF


65. Determine the nature of roots of the

quadratic equation: 

Watch Video Solution

x2 + 2x − 9 = 0

66. Determine the nature of roots of the

quadratic equation: 

Watch Video Solution

√3x2 + 2√3x + √3 = 0

https://dl.doubtnut.com/l/_ptA2j5jdhLjf
https://dl.doubtnut.com/l/_vsivTsBCPOJx


67. Find the value of discriminant for quadratic

equation: 

Watch Video Solution

x2 + 7x − 1 = 0

68. Find the value of discriminant for quadratic

equation: 

Watch Video Solution

2y2 − 5y + 10 = 0

https://dl.doubtnut.com/l/_M3qn2nYI9QN8
https://dl.doubtnut.com/l/_XylTy9iC8yE1


69. Find the value of discriminant for the

quadratic equation: 

Watch Video Solution

√2x2 + 4x + 2√2 = 0

70. Find the value of discriminant for

quadratic equation: 

Watch Video Solution

2y2 − y + 2 = 0

https://dl.doubtnut.com/l/_07uJejy6SH8Y
https://dl.doubtnut.com/l/_w9etugDUMCDc


71. Find the value of discriminant for quadratic

equation: 

Watch Video Solution

5m2 − m = 0

72. Find the value of discriminant for quadratic

equation: 

Watch Video Solution

√2x2 − x − √5 = 0

https://dl.doubtnut.com/l/_AR8BSoZAgw8R
https://dl.doubtnut.com/l/_c4ZQple2Edub


73. Determine the nature of roots of the

following quadratic equation:

Watch Video Solution

x2 − 4x − 4 = 0

74. Determine the nature of roots of the

following quadratic equation:

Watch Video Solution

2y2 − 7y + 2 = 0

https://dl.doubtnut.com/l/_5KZuvuF7sMKN
https://dl.doubtnut.com/l/_6HtVSmUy08OM
https://dl.doubtnut.com/l/_31WAhyVKXnhm


75. Determine the nature of roots of the

following quadratic equation:

Watch Video Solution

m2 + 2m + 9 = 0

76. Determine the nature of roots for the

quadratic equation: 

Watch Video Solution

3x2 − 5x + 7 = 0

https://dl.doubtnut.com/l/_31WAhyVKXnhm
https://dl.doubtnut.com/l/_QV43LjLVex9V


77. Determine the nature of roots for the

quadratic equation: 

Watch Video Solution

√3x2 + √2x − 2√3 = 0

78. Determine the nature of roots for the

quadratic equation: 

Watch Video Solution

m2 − 2m + 1 = 0

https://dl.doubtnut.com/l/_8YyVmxxaWsOk
https://dl.doubtnut.com/l/_hZediGdZ9Hoc


79. The roots of the following quadratic

equation are real and equal. Find k.

Watch Video Solution

3y2 + ky + 12 = 0

80. The roots of the following quadratic

equation are real and equal. Find .

Watch Video Solution

k

kx(x − 2) + 6 = 0

https://dl.doubtnut.com/l/_t54lzGcxDxZ8
https://dl.doubtnut.com/l/_WYOQBcVZIk2S
https://dl.doubtnut.com/l/_t8tseSyXoXqD


81. Find  if

 has real

and equal roots.

Watch Video Solution

m

(m − 12)x2 + 2(m − 12)x + 2 = 0

82. Fill in the blanks if  and  are roots of

quadratic equation .

 =........ and  =.........

Watch Video Solution

α β

10x2 + 10x + 1 = 0

α + β α ⋅ β

https://dl.doubtnut.com/l/_t8tseSyXoXqD
https://dl.doubtnut.com/l/_NKHGSrWrpaqo
https://dl.doubtnut.com/l/_Mzk0kXx10pf9


83. Sum of the roots of quadratic equation

 is double their

product. Find 

Watch Video Solution

x2 − 4kx + k + 3 = 0

k

84.  are roots of . Find 

Watch Video Solution

α, β y2 − 2y − 7 = 0

α2 + β2

https://dl.doubtnut.com/l/_Mzk0kXx10pf9
https://dl.doubtnut.com/l/_SUYQqehzel04


85.  are roots of . Find 

Watch Video Solution

α, β y2 − 2y − 7 = 0

α3 + β3

86. Write the quadratic equation if addition of

the roots is 10 and product is 9.

Watch Video Solution

https://dl.doubtnut.com/l/_iSnlJtAXKm6N
https://dl.doubtnut.com/l/_uSUqrAaoJ4VB


87. Write the quadratic equation if roots are:

.

Watch Video Solution

α = 2, β = 5

88. Write the quadratic equation if the roots

are 0 and 4.

Watch Video Solution

https://dl.doubtnut.com/l/_NLR9B3kb8I5A
https://dl.doubtnut.com/l/_6hbxAhXEIYjD


89. Write the quadratic equation if the roots

are 3 and -10.

Watch Video Solution

90. Write the quadratic equation if the roots

are: 

Watch Video Solution

and −
1

2

1

2

https://dl.doubtnut.com/l/_KxWLqd6g7RSX
https://dl.doubtnut.com/l/_jOpuGw0SLubu


91. Write the quadratic equation if the roots

are: 

Watch Video Solution

2 − √5 and 2 + √5

92. Write the quadratic equation if the roots

are: 

Watch Video Solution

10 and − 10

https://dl.doubtnut.com/l/_ZUTcLUM64P2F
https://dl.doubtnut.com/l/_97hc7gPDWU3q


93. Write the quadratic equation if the roots

are: 

Watch Video Solution

1 − 3√5 and 1 + 3√5

94. Write the quadratic equation if the roots

are: 0 and 7

Watch Video Solution

https://dl.doubtnut.com/l/_hLdqq5g4YEOh
https://dl.doubtnut.com/l/_6TwNZ3L2nPF3


95. The sum of two roots of a quadratic

equation is 5 and sum of their cubes is 35.

Find the equation.

Watch Video Solution

96. Find quadratic equation such that its roots

are square sum of the roots and square of

difference of the roots of equation

Watch Video Solution

2x2 + 2(p + q)x + p2 + q2 = 0

https://dl.doubtnut.com/l/_xUIX78In1aq5
https://dl.doubtnut.com/l/_beyhVCCiOTZL


97. Product of Pragati's age 2 years ago and 3

years hence is 84. Find her present age.

Watch Video Solution

98. Vivek is older than Kishor by 5 years. The

sum of the reciprocals of their ages is . Find

their present ages.

Watch Video Solution

1

6

https://dl.doubtnut.com/l/_beyhVCCiOTZL
https://dl.doubtnut.com/l/_ApfinEO0V1AP
https://dl.doubtnut.com/l/_Lx3GP7wf7eud
https://dl.doubtnut.com/l/_IHsHs7qrkfoG


99. The sum of squares of two consecutive

even natural numbers is 244. Find the

numbers.

Watch Video Solution

100. The difference between squares of two

numbers is 120.The square of smaller number

is twice the greater number. Find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_IHsHs7qrkfoG
https://dl.doubtnut.com/l/_zz9e6bXkWlYr


101. If 460 is divided by a natural number,

quotient is 6 more than 5 times the divisor

and remainder is 1. Find quotient and divisor.

Watch Video Solution

102. Mukund possesses ₹50 more than what

Sagar possesses. The product of the amount

they have is ₹15,000. Find the amounts each

one has.

Watch Video Solution

https://dl.doubtnut.com/l/_C0tHmeAi1Yr3
https://dl.doubtnut.com/l/_v6aZXXxjgjV4


103. Mr. Ram makes certain number of pots on

daily basis. Production cost of each pot is ₹40

more than 10 times total number of pots he

makes in one day. If production cost of all pots

per day is ₹600, find production cost of one

pot and number of pots he makes per day.

Watch Video Solution

104. Ranjana wants to distribute 540 oranges

among some students. If 30 students were

https://dl.doubtnut.com/l/_v6aZXXxjgjV4
https://dl.doubtnut.com/l/_cz0Xy3N8wCf3
https://dl.doubtnut.com/l/_TRlAZATcGpiS


more, each would get 3 oranges less. Find the

number of students.

Watch Video Solution

105. Yash scored 10 marks more in second test

than that in first. 5 times the score of the

second test is same as square of the score in

first test. Find his score in first test.

Watch Video Solution

https://dl.doubtnut.com/l/_TRlAZATcGpiS
https://dl.doubtnut.com/l/_U9Zkxb8GkcSO


106. Mr. Dinkar owns a farm at village Talvel.

The length of the farm is 10 meters more than

twice the breadth. He dug a square shaped

pond inside the farm. The side of pond is 

times of the breadth of the farm. The area of

the farm is 20 times the area of the pond. Find

the dimensions of the farm and the pond.

Watch Video Solution

1

3

https://dl.doubtnut.com/l/_cZvDKd8K4vej


107. Pintu takes 6 days more than Nishu to

complete certain work. If they work together,

they finish it in 4 days. How many days would

it take to complete the work if they work

alone?

Watch Video Solution

108. A tank fills completely in 2 hours if both

the taps are open. If only one of the taps is

open at a given time, the smaller tap takes 3

https://dl.doubtnut.com/l/_Jv2Fdg4cWSfv
https://dl.doubtnut.com/l/_ZSQpuHP3dvkt


hours more than the larger one to fill the tank.

How much time does each tap take to fill the

tank completely?

Watch Video Solution

109. Pratik takes 8 hours to travel 36 km

downstream and return to same spot. The

speed of boat in still water is 12km/hr. Find the

speed of the water current.

Watch Video Solution

https://dl.doubtnut.com/l/_ZSQpuHP3dvkt
https://dl.doubtnut.com/l/_3YQhpLMrbTNn
https://dl.doubtnut.com/l/_KMZmW0279aBh


Exercise

110. In the orange garden of Mr.Madhusudan

there are 150 orange trees. The number of

trees in each row are 5 more than that in each

column. Find the number of trees in each row

and each column.

Watch Video Solution

1. Which one of the following is a quadratic

equation? a)  b)  c)− 3 = x25

x
x(x + 5) = 2

https://dl.doubtnut.com/l/_KMZmW0279aBh
https://dl.doubtnut.com/l/_NTnEd1QjEMHi


 d)

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

n − 1 = 2n (x + 2) = x
1

x2

− 3 = x25

x

x(x + 5) = 2

n − 1 = 2n

(x + 2) = x
1

x2

https://dl.doubtnut.com/l/_NTnEd1QjEMHi


2. Out of the following equations, which one is

not a quadratic equation? a)

 b)  c)  d)

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x2 + 4x = 11 + x2 x2 = 4x 5x2 = 90

2x − x2 = x2 + 5

x2 + 4x = 11 + x2

x2 = 4x

5x2 = 90

2x − x2 = x2 + 5

https://dl.doubtnut.com/l/_EEADoH2hynwj


Watch Video Solution

3. The roots of  are real and

equal. Find K. a)0 b)4 c)0 or 4 d)2

A. 0

B. 4

C. 0 or 4

D. 2

Answer:

Watch Video Solution

x2 + kx + k = 0

https://dl.doubtnut.com/l/_EEADoH2hynwj
https://dl.doubtnut.com/l/_t586663fiR0S


4. For quadratic equation

, find the value of the

discriminant.

A. -5

B. 17

C. 

D. 

Answer:

Watch Video Solution

√2x2 − 5x + √2 = 0

√2

2√2 − 5

https://dl.doubtnut.com/l/_t586663fiR0S
https://dl.doubtnut.com/l/_arWVn2lhr2jZ


5. Which of the following quadratic equations

has roots 3, 5? a)  b)

 c)  d)

A. 

B. 

C. 

D. 

Answer:

x2 − 15x + 3 = 0

x2 − 8x + 15 = 0 x2 + 3x + 5 = 0

x2 + 8x − 15 = 0

x2 − 15x + 3 = 0

x2 − 8x + 15 = 0

x2 + 3x + 5 = 0

x2 + 8x − 15 = 0

https://dl.doubtnut.com/l/_arWVn2lhr2jZ
https://dl.doubtnut.com/l/_Es31WhWEFKda


Watch Video Solution

6. Out of the following equations, find the

equation having the sum of its roots as -5. a)

 b)  c)

 d)

A. 

B. 

C. 

D. 

3x2 − 15x + 3 = 0 x2 − 5x + 3 = 0

x2 + 3x − 5 = 0 3x2 + 15x + 3 = 0

3x2 − 15x + 3 = 0

x2 − 5x + 3 = 0

x2 + 3x − 5 = 0

3x2 + 15x + 3 = 0

https://dl.doubtnut.com/l/_Es31WhWEFKda
https://dl.doubtnut.com/l/_5RpnMeASotcw


Answer:

Watch Video Solution

7. , Which of the

following statement is true for the given

equation? a)Real and unequal roots b)Real

and equal roots c)No real roots d)Three roots

A. real and unequal roots

B. real and equal roots

C. no real roots

√5m2 − √5m + √5 = 0

https://dl.doubtnut.com/l/_5RpnMeASotcw
https://dl.doubtnut.com/l/_EI4qsJ0EaiyW


D. three roots

Answer:

Watch Video Solution

8. One of the roots of equation

 is 2. Find . a)  b)  c)

 d)

A. -2

B. 

x2 + mx − 5 = 0 m −2 −
1

2
1

2
2

−
1

2

https://dl.doubtnut.com/l/_EI4qsJ0EaiyW
https://dl.doubtnut.com/l/_f8SXq6OeTY0F


C. 

D. 2

Answer:

Watch Video Solution

1

2

9.  are roots of quadratic equation 

. Then =______ a)

b)  c)  d)

A. 

α, β

ax2 + bx + c = 0 (α + β) −
b

a
b

a
−

c

a

c

a

−
b

a

https://dl.doubtnut.com/l/_f8SXq6OeTY0F
https://dl.doubtnut.com/l/_1FXCwQ05hXm1


B. 

C. 

D. 

Answer:

Watch Video Solution

b

a

−
c

a

c

a

10. The roots of the quadratic equation

 are_______ a)  b)

 c)  d) 

y2 − 16y + 63 = 0 −9, − 7

−9, 7 9, − 7 9, 7

https://dl.doubtnut.com/l/_1FXCwQ05hXm1
https://dl.doubtnut.com/l/_7dHcZ7uhN91f


A. 

B.  and 7

C. 9 and 

D. 9 and 7

Answer:

Watch Video Solution

−9 and − 7

−9

−7

11. If the roots of a quadratic equation are real

and equal, then  must be_______ a) 0 b)Less

than 0 c)Greater than 0 d)1

Δ

https://dl.doubtnut.com/l/_7dHcZ7uhN91f
https://dl.doubtnut.com/l/_poQGiQb9sVBF


A. zero

B. greater then zero

C. less than zero

D. equal to one

Answer:

Watch Video Solution

12. If one root of quadratic equation

 is 3, then value of k

is………..a)  b)  c)  d)None of these

kx2 − 7x + 12 = 0

−1 1 3

https://dl.doubtnut.com/l/_poQGiQb9sVBF
https://dl.doubtnut.com/l/_I3RRLxt1dW9e


A. -1

B. 1

C. 3

D. none of these

Answer:

Watch Video Solution

13. If one root of quadratic equation is 

then the other root is………….a)  b)

 c)  d)

1 − √3

1 − √3

−1 − √3 1 + 2√3 1 + √3

https://dl.doubtnut.com/l/_I3RRLxt1dW9e
https://dl.doubtnut.com/l/_k08PCxj7lk6u


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1 − √3

−1 − √3

1 + 2√3

1 + √3

14. If the roots of  are real

and equal then.......a)  b)

 c)  d) Cannot say

ax2 + bx + c = 0

b2 − 4ac < 0

b2 − 4ac = 0 b2 − 4ac > 0

https://dl.doubtnut.com/l/_k08PCxj7lk6u
https://dl.doubtnut.com/l/_gGxvDMeFvRli


A. 

B. 

C. 

D. cannot say

Answer:

Watch Video Solution

b2 − 4ac < 0

b2 − 4ac = 0

b2 − 4ac > 0

15. The value of discriminant of the equation

 is…………..a)  b)  c)  d)x2 + x + 1 = 0 −4 −3 3 4

https://dl.doubtnut.com/l/_gGxvDMeFvRli
https://dl.doubtnut.com/l/_jVfHQ1Oz1oKR


A. -4

B. -3

C. 3

D. 4

Answer:

Watch Video Solution

16.  are roots of quadratic equation such

that  and , then

required equation is……….a)  b)

α, β

α + β = − 4 αβ = − 1

x2 − 4x − 1 = 0

https://dl.doubtnut.com/l/_jVfHQ1Oz1oKR
https://dl.doubtnut.com/l/_B2cnymwFtxkC


 c)  d)

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x2 + 4x − 1 = 0 x2 + 4x + 1 = 0

x2 − 4x + 1 = 0

x2 − 4x − 1 = 0

x2 + 4x − 1 = 0

x2 + 4x + 1 = 0

x2 − 4x + 1 = 0

https://dl.doubtnut.com/l/_B2cnymwFtxkC


17. The standard form of quadratic equation

 is……….a)

b)  c)  d)

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

x − = 3x − 7
5

x
2x2 − 8x + 7 = 0

2x2 + 7x + 5 = 0 2x2 − 7x + 5 = 0

2x2 − 5x + 7 = 0

2x2 − 8x + 7 = 0

2x2 + 7x + 5 = 0

2x2 − 7x + 5 = 0

2x2 − 5x + 7 = 0

https://dl.doubtnut.com/l/_dudRymZtIuda


Watch Video Solution

18. What is the nature of roots of quadratic

equation: ? a)Real b)Equal

c)Unequal d)Both a and b

A. real

B. equal

C. unequal

D. both A and B

Answer:

9x2 − 12x + 4 = 0

https://dl.doubtnut.com/l/_dudRymZtIuda
https://dl.doubtnut.com/l/_R3ATaa0KoKac


Watch Video Solution

19. Three times the square of natural number

is 363 is written in the mathematical equation

form as…………a)  b)

 c)  d)

A. `x^2+3=363

B. 

C. `3x^2=363

D. 

x2 + 3 = 363

x2 − 3x + 3 = 363 3x2 = 363 = 363
x2

3

x2 − 3 = 363

= 363
x2

3

https://dl.doubtnut.com/l/_R3ATaa0KoKac
https://dl.doubtnut.com/l/_sW46zW1MS3Uk


Answer:

Watch Video Solution

20. Which of the following is not a quadratic

equation? a)  b)

 c)  d)

A. 

B. 

C. 

− x2 = 2x + 9
5

3

(x + 3)(x + 4) = 0 − 3 = x25

x

= 3m + 5
7
m

− x2 = 2x + 9
5

3

(x + 3)(x + 4)

− 3 = x25

x

https://dl.doubtnut.com/l/_sW46zW1MS3Uk
https://dl.doubtnut.com/l/_v0xB8YA3Ja5P


D. 

Answer:

Watch Video Solution

= 3m + 5
7
m

21. For quadratic equation the product of the

roots =…………..a)  b)  c)  d)

A. 

B. 

C. 

α and β −
b

a

c

a
−

c

a

b

a

−
b

a

−
c

a

b

a

https://dl.doubtnut.com/l/_v0xB8YA3Ja5P
https://dl.doubtnut.com/l/_cb9cTDucWv77


D. 

Answer:

Watch Video Solution

c

a

22. Write the formula: =…………….a)

 b)

 c)

 d)

A. 

α3 + β3

(α + β)3 − 3αβ(α + β)

(α − β)3 + 3αβ(α − β)

(α + β)3 − 3αβ(α − β)

(α − β)3 − 3αβ(α − β)

(α + β)3 − 3αβ(α + β)

https://dl.doubtnut.com/l/_cb9cTDucWv77
https://dl.doubtnut.com/l/_x3v5Uw26laqx


B. 

C. 

D. 

Answer:

Watch Video Solution

(α − β)3 + 3αβ(α − β)

(α + β)3 − 3αβ(α − β)

(α − β)3 − 3αβ(α − β)

23. If one root of quadratic equation is 

,then the product of roots is………..a) 30 b) 20 c)

-20 d) 125

5 + √5

https://dl.doubtnut.com/l/_x3v5Uw26laqx
https://dl.doubtnut.com/l/_R2WVZedyjtbY


A. 30

B. -20

C. 20

D. 125

Answer:

Watch Video Solution

24. If x=9 is one root of the quadratic equation

, then find the value of k.x2 − 11x + k = 0

https://dl.doubtnut.com/l/_R2WVZedyjtbY
https://dl.doubtnut.com/l/_gqvuPhtST6mw


Watch Video Solution

25. If one root of the quadratic equation

 is , then find the value of

k.

Watch Video Solution

3y2 − ky + 8 = 0
2

3

26. Determine whether the given values of x

are the roots of given quadratic equation

Watch Video Solution

6x2 − x − 2 = 0, x = − , x = 5
1

2

https://dl.doubtnut.com/l/_gqvuPhtST6mw
https://dl.doubtnut.com/l/_wl9ceqhQjhS4
https://dl.doubtnut.com/l/_STZ07zDSkY4G


27. Which of the following is a quadratic

equation? a)  b)  c)

 d)None of these

Watch Video Solution

x − = 3x − 9
5

x
x + 3 = 0

y3 = 8

28. Which of the following is a quadratic

equation? a)  b)  c)

 d)None of these

Watch Video Solution

(x + 3)(x − 4) = 0 x = 9

x3 = 0

https://dl.doubtnut.com/l/_STZ07zDSkY4G
https://dl.doubtnut.com/l/_PWN1tclwoEVc
https://dl.doubtnut.com/l/_bwTbZi2xCwr0


29. Which of the following is a quadratic

equation? a)  b)  c)

 d)None of these

Watch Video Solution

− 3 = x25

x
x2 = 9

x + 7 = 0

30. Which of the following is a quadratic

equation? a)  b)  c)

 d)None of these

Watch Video Solution

n2 − n + 4 = n2 x2 = 8

y3 = 0

https://dl.doubtnut.com/l/_bwTbZi2xCwr0
https://dl.doubtnut.com/l/_08HB1JJDtNoe
https://dl.doubtnut.com/l/_wjgpKgh3oFyE


31. Which of the following is a quadratic

equation? a)  b)  c)

 d)None of these

Watch Video Solution

x − 3 = 4x2 x + 9 = 0

x3 + 2x2 + 5 = 0

32. Write the quadratic equation

 in  form and

find the values of a,b,c.

Watch Video Solution

m(m − 7) = 0 ax2 + bx + c = 0

https://dl.doubtnut.com/l/_6wsVQ7HyucyW
https://dl.doubtnut.com/l/_gHN2zK1266Qh
https://dl.doubtnut.com/l/_cqhuVkNKjUjC


33. Write the quadratic equation 

in  form and find the values

of a,b,c.

Watch Video Solution

= 7
x2 − 7

x

ax2 + bx + c = 0

34. Write the quadratic equation 

in  form and find the values

of a,b,c.

Watch Video Solution

x − = 5
6

x

ax2 + bx + c = 0

https://dl.doubtnut.com/l/_cqhuVkNKjUjC
https://dl.doubtnut.com/l/_aChl8xk55E0h
https://dl.doubtnut.com/l/_HXsULqmfur6G


35. Write the quadratic equation

 in 

form and find the values of a,b,c.

Watch Video Solution

(x + 5)(x − 11) = 0 ax2 + bx + c = 0

36. Solve the given quadratic equation by

factorization method: 

Watch Video Solution

x2 − 5x − 36 = 0

https://dl.doubtnut.com/l/_HXsULqmfur6G
https://dl.doubtnut.com/l/_5zjHH1nWCM41


37. Solve the given quadratic equation by

factorization method: 

Watch Video Solution

3y2 − 14y + 8 = 0

38. Solve the given quadratic equation by

factorization method: 

Watch Video Solution

64m2 − 625 = 0

https://dl.doubtnut.com/l/_YAEzhxGTFTAI
https://dl.doubtnut.com/l/_oxPgRD1jvuxc


39. Solve the given quadratic equation by

factorization method: 

Watch Video Solution

x2 − 13x + 30 = 0

40. Solve the given quadratic equation by

factorization method: 

Watch Video Solution

16x2 − 24x = 0

https://dl.doubtnut.com/l/_sZjVGgrxw7qU
https://dl.doubtnut.com/l/_gxVFNeEchEBP


41. Solve the given quadratic equation by

factorization method: 

Watch Video Solution

x2 − 3√3x + 6 = 0

42. Solve the given quadratic equation by

factorization method: 

Watch Video Solution

7x2 + 4x − 20 = 0

https://dl.doubtnut.com/l/_fbIkZLhkGJnP
https://dl.doubtnut.com/l/_Ok8SU4nCmGSh


43. Solve the given quadratic equation by

factorization method: 

Watch Video Solution

m2 − 7 = 0

44. Solve the following quadratic equation by

completing square method: 

Watch Video Solution

x2 + 8x + 15 = 0

https://dl.doubtnut.com/l/_w3eCst7PUtPx
https://dl.doubtnut.com/l/_lP3Zof31aIjB


45. Solve the following quadratic equation by

completing square method:

Watch Video Solution

m2 − 2m − 1 = 0

46. Solve the following quadratic equation by

completing square method: 

Watch Video Solution

x2 + 3x + 1 = 0

https://dl.doubtnut.com/l/_2zYpDBDzWOtL
https://dl.doubtnut.com/l/_toPSGdRcFqM3


47. Solve the following quadratic equation by

completing square method: 

Watch Video Solution

3y2 + 7y + 1 = 0

48. Solve the following quadratic equation by

completing square method: 

Watch Video Solution

4p2 + 7 = 12p

https://dl.doubtnut.com/l/_jaym9H7jXUHO
https://dl.doubtnut.com/l/_LQ9IUpskSs4N


49. Solve the following quadratic equation by

completing square method: 

Watch Video Solution

6m2 + m = 2

50. Solve the following quadratic equation by

using formula method: 

Watch Video Solution

x2 + 2x − 7 = 0

https://dl.doubtnut.com/l/_dnumrXGV3nZC
https://dl.doubtnut.com/l/_RKonHhfWZxZS


51. Solve the following quadratic equation by

using formula method: 

Watch Video Solution

3x2 + 8x + 3 = 0

52. Solve the following quadratic equation by

using formula method: 

Watch Video Solution

5m2 + 5m = 1

https://dl.doubtnut.com/l/_F4UMi3VPWiKa
https://dl.doubtnut.com/l/_oonudWcz4n77


53. Solve the following quadratic equation by

using formula method: 

Watch Video Solution

x2 + 4x − 1 = 0

54. Solve the following quadratic equation by

using formula method: 

Watch Video Solution

4x2 + x + 5 = 0

https://dl.doubtnut.com/l/_DCjdZomxDs3n
https://dl.doubtnut.com/l/_CO5jdo0P8qph


55. Solve the following quadratic equation by

using formula method:

Watch Video Solution

9y2 − 5y − 4 = 0

56. Find the value of discriminant for the

following quadratic equation:

Watch Video Solution

x2 + 4x + 4 = 0

https://dl.doubtnut.com/l/_S1AAGg3eQbe0
https://dl.doubtnut.com/l/_6YzE0d4l68Q3


57. Find the value of discriminant for the

following quadratic equation:

Watch Video Solution

x2 + 4x + 1 = 0

58. Find the value of discriminant for the

following quadratic equation:

Watch Video Solution

3x2 + 2x + 1 = 0

https://dl.doubtnut.com/l/_Ov85UTVbaf8o
https://dl.doubtnut.com/l/_2l47hxeYua50
https://dl.doubtnut.com/l/_oLwoT266a8NB


59. Determine the nature of roots of the

following quadratic equation from its

discriminant: 

Watch Video Solution

x2 − 8x + 16 = 0

60. Determine the nature of roots of the

following quadratic equation from its

discriminant: 

Watch Video Solution

2x2 − 3x − 4 = 0

https://dl.doubtnut.com/l/_oLwoT266a8NB
https://dl.doubtnut.com/l/_HRVCHLv0SYzR
https://dl.doubtnut.com/l/_WSIENSOxDrXf


61. Determine the nature of roots of the

following quadratic equation from its

discriminant: 

Watch Video Solution

4x2 − 8x + 9 = 0

62. Form the quadratic equation if its roots

are 

Watch Video Solution

0 and − 4

https://dl.doubtnut.com/l/_WSIENSOxDrXf
https://dl.doubtnut.com/l/_iZYKBjAXXp3h


63. Form the quadratic equation if its roots

are 

Watch Video Solution

and −
1

2

3

4

64. Form the quadratic equation if its roots

are 

Watch Video Solution

(√2 + √3) and (√2 − √3)

https://dl.doubtnut.com/l/_jIsFJZUM9xwF
https://dl.doubtnut.com/l/_t298AdPtOA15


65. Find the value of  for which given

quadratic equation has real and equal roots:

Watch Video Solution

k

k2x2 − 2(k − 1)x + 4 = 0

66. Find the value of 
 for which given

quadratic equation has real and equal roots:

Watch Video Solution

k

4x2 − 3kx + 1 = 0

https://dl.doubtnut.com/l/_YOZJwvkFbK5b
https://dl.doubtnut.com/l/_COIQKs1Q9vqm
https://dl.doubtnut.com/l/_jOrESIFIspJq


67. If  are the roots of equation 

, find 

Watch Video Solution

α and β

x2 − 4x + 1 = 0 α2 + β2

68. If  are the roots of equation 

, find 

Watch Video Solution

α and β

x2 − 4x + 1 = 0 α3 + β3

https://dl.doubtnut.com/l/_jOrESIFIspJq
https://dl.doubtnut.com/l/_j4wHgm0sGCXg


69. Find , if one root of the equation

 is five times the other root.

Watch Video Solution

k

5x2 + 6x + k = 0

70. A man riding on a bicycle covers a distance

of 60km in the direction of wind and comes

back to his original position in 8 hours. If the

speed of the wind is 10km/hr, find the speed of

the bicycle.

Watch Video Solution

https://dl.doubtnut.com/l/_NNsBEBYW6MLk
https://dl.doubtnut.com/l/_7xsCfSwcCyPn


71. One tank can be filled up by two taps in 6

hours. The smaller tap alone takes 5 hours

more than the bigger tap alone. Find the time

required by each tap to fill the tank separately.

Watch Video Solution

72. The sum of the squares of two consecutive

natural numbers is 113. Find the numbers.

Watch Video Solution

https://dl.doubtnut.com/l/_7xsCfSwcCyPn
https://dl.doubtnut.com/l/_Skpn62jZJt9q
https://dl.doubtnut.com/l/_zesc1eoWMluc


73. The sum of the squares of two consecutive

natural numbers is 41. Find the numbers.

Watch Video Solution

74. For doing some work, Ganesh takes 10 days

more than John. Together, they will complete

the work in 12 days. Find the number of days

to complete the work if Ganesh works alone.

Watch Video Solution

https://dl.doubtnut.com/l/_0W5BcUnPTt0O
https://dl.doubtnut.com/l/_meHgQKMdKeDJ
https://dl.doubtnut.com/l/_DdTX3tvEJ5tv


75. In garden, there are some rows and

columns. The number of trees in a row is

greater than that in each column by 10. Find

the number of trees in each row if the total

number of trees are 200.

Watch Video Solution

76. The sum of reciprocals of Reshma's age (in

years) 3years ago and 5 years after from now

is 1/3. Find her present age.

Watch Video Solution

https://dl.doubtnut.com/l/_DdTX3tvEJ5tv
https://dl.doubtnut.com/l/_RI7p1wlIxZcH


77. If  are the roots of quadratic

equation , then the value of 

A. -2

B. 2

C. 34

D. -4

Answer:

α and β

2x2 + 4x + 3 = 0

α + β = .......

https://dl.doubtnut.com/l/_RI7p1wlIxZcH
https://dl.doubtnut.com/l/_JhriMhQMGwKW


Watch Video Solution

78. Write the following quadratic equation in

standard form: 

Watch Video Solution

(m + 4)(m − 10) = 0

79. If sum of the roots of quadratic equation is

10 and the product is 9, then form the

quadratic equation.

Watch Video Solution

https://dl.doubtnut.com/l/_JhriMhQMGwKW
https://dl.doubtnut.com/l/_GRoSRu5aHDs8
https://dl.doubtnut.com/l/_mbYMrvNCEIrG


80. Find the values of a,b,c for the following

quadratic equation by comparing with

standard form:

Watch Video Solution

x2 − x − 3 = 0

81. Solve by factorization method:

Watch Video Solution

m2 − 25 = 0

https://dl.doubtnut.com/l/_pETzagyoCo8C
https://dl.doubtnut.com/l/_uMKOxIaGXkqg


82. If  are roots of quadratic equation,

and , then form the

quadratic equation.

Watch Video Solution

α and β

α = − 5 and β = 9

83. Vivek is 5 years elder to Kishor. The sum of

the reciprocal of their ages is 1/6. Find their

present ages.

Watch Video Solution

https://dl.doubtnut.com/l/_kHUCNQMuNrX1
https://dl.doubtnut.com/l/_CxxqLKayGckf
https://dl.doubtnut.com/l/_2suF30PlUb2n


84. Solve the following quadratic equation by

formula method: 

Watch Video Solution

x2 + 6x + 5 = 0

85. If  are the roots of quadratic

equation  then, find 

Watch Video Solution

α and β

x2 + 5x − 1 = 0 α3 + β3

https://dl.doubtnut.com/l/_2suF30PlUb2n
https://dl.doubtnut.com/l/_2q9G4QYONtwV


86. If  are the roots of quadratic

equation  then, find 

Watch Video Solution

α and β

x2 + 5x − 1 = 0 α2 + β2

87. For doing some work, Pintu takes 6 days

more than Nishu. If both work together, then

they complete the work in 4 days. Find the

number of days taken, if Pintu and Nishu work

alone.

Watch Video Solution

https://dl.doubtnut.com/l/_5wKg1K1yw1hI
https://dl.doubtnut.com/l/_xNC7UngQbY4R


88. Find m, if the roots of the quadratic

equation 

are real and equal.

Watch Video Solution

(m − 12)x2 + 2(m − 12)x + 2 = 0

89. Pratik travels by boat 36 km down a river

and back in 8 hours. If the speed of his boat in

still water is 12km/hr, find the speed of the

river current.

Watch Video Solution

https://dl.doubtnut.com/l/_xNC7UngQbY4R
https://dl.doubtnut.com/l/_gHgwFvUrDyxX
https://dl.doubtnut.com/l/_s66HiFia0Aar


90. Two trains leave a railway station at the

same time.The first train travels due west and

the second train due north.The first train

travel 5 km/hr faster than second train.If after

two hours,they are 50 km apart,Find the speed

of each train.

Watch Video Solution

https://dl.doubtnut.com/l/_s66HiFia0Aar
https://dl.doubtnut.com/l/_UUmePWyf36aQ


91. If the sum of the roots of the quadratic

equation  is equal to the

sum of the squares of their reciprocals,then

prove that .

Watch Video Solution

ax2 + bx + c = 0

2a2c = c2b + b2a

92. If the roots of the quadratic equation

 are in the ratio . Then

show that 

Watch Video Solution

ax2 + cx + c = 0 p : q

√ + √ + √ = 0
p

q

q

p

c

a

https://dl.doubtnut.com/l/_ivudBhDzsUKx
https://dl.doubtnut.com/l/_4VRvX6Bf6Ech


93. A business man bought some items for

₹600. Keeping 10 items for himself he sold the

remaining items at a profit of ₹5 per item.

From the amount received in this deal he

could buy 15 more items. Find the original

price of each item.

Watch Video Solution

94. A man travels by boat 36 km down a river

and back in 8 hours. If the speed of his boat in

https://dl.doubtnut.com/l/_4VRvX6Bf6Ech
https://dl.doubtnut.com/l/_RANhtJIFkOX0
https://dl.doubtnut.com/l/_84QyojV0d6Jh


still water is 12 km/hr, find the speed of the

river current.

Watch Video Solution

95. A number consists of two digits whose

product is 56.When 9 is subtracted from the

number,the digits interchange their

places.Find the number.

Watch Video Solution

https://dl.doubtnut.com/l/_84QyojV0d6Jh
https://dl.doubtnut.com/l/_7ZofIhknbH7h


96. Two pipes running together can fill a

cinstern in  minutes.If one pipe takes 3

minutes more than the other to fill it,find the

time in which each pipe would fill the cistern.

Watch Video Solution

3
1

13

97. If the sum of the roots of the quadratic

equation is  is

zero,show that the product of the roots is

.

+ =
1

x + p

1

x + q

1

r

−( )
p2 + q2

2

https://dl.doubtnut.com/l/_ix9kP6PxY5xX
https://dl.doubtnut.com/l/_LhxmB1qsp1ds


Watch Video Solution

98. Solve:

.

Watch Video Solution

√x2 − 16 − √x2 − 8x + 16 = √x2 − 5x + 4

https://dl.doubtnut.com/l/_LhxmB1qsp1ds
https://dl.doubtnut.com/l/_H8UQtD36uC9s

